CS714/814 Fall 2013


Assignment 2


Due on: Oct. 2, 2013. 
Total points: 100 




Option 1: Programming Assignment
1. (50 pts) Use hit-or-miss Monte Carlo and crude Monte Carlo to calculate the following integral. Use your program with 100, 1000, 10000, ..., 10^9 random samples. Estimate the mean and the standard error. Draw a log-log plot with of the standard error and the number of random samples for both hit-or-miss Monte Carlo and crude Monte Carlo. 
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Notice that the standard error for binomial distribution is 
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2. (25 pts) Extend your crude Monte Carlo program in 1 and use the antithetic variate method. Estimate the mean and the standard error. Draw a log-log plot with of the standard error and the number of random samples. (Put this antithetic variate curve and the crude Monte Carlo curve in one figure).

3. (25 pts) Extend your program in 2 to estimate the following integral. Draw a log-log plot with of the standard error and the number of random samples. 
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Delivery form
The delivery form of the assignment should be a document with the program printout and the corresponding figures.
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